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                                                    Worksheet  

   Class:   IV             Subject: Mathematics      Topic: unit 2 Large Numbers   

          

         Q1.Choose the correct option  :- 

                 1) In 233,570    2 is in ____________period.  

                     (a) tens    (b) one thousands   (c) ten thousands   (d) hundred thousands 

2) 100000  is the  successor of :- 

  (a) 99999    (b) 99099    (c) 9999    (d) 89999 

 3) Hundred thousand  is equal to :- 

      (a) 1 lakh    (b) 3 lakhs    (c) 99 lakhs    (d) 4 lakhs 

 

Q2.  Find the sum of the place values of  3 and 7 in 8345791 

 

 

 

 

         

        Q3.Arrange the following numbers  in descending order  :- 

                  2992929 , 9292929 , 9999222 , 2929292 

 

 

 

 

 

 

 

 

 

 



 

 

 


